Edubull

EXERCISE # 1

Q.1

Q.2

Q.3

Q.4

Q.5

Q.6

Q.7

If sina = and tanP = 1, find the value of

1
V2
sin(a + ), where o and 3 both are acute.

and tanf = €L , find the value

NG

of sin(a + B), where o and B both are acute.

If coso = —

Without using trigonometric tables evaluate

the following :

.. sin20° ... cosl9° ... sin21°
i il iii
@ cos70° (i) sin71° ( )cos69°
. . tanl10° secl1°® .. sin20°30'
(iv) ) vi

cot80° cosec79° c0s69°30'

Without using trigonometric tables evaluate

the following :
.. [ sin49° : cos41° :
(1) +| =
cos41° sin49°
cot40° 1(00'[35")

ii —-—
(i) tan50° 2\ sin55°

Without using trigonometric tables evaluate
the following :
Q) tan35 +cot78 .

cot55° tanl2°

(ii) cosec267° — tan?23°

Without using trigonometric tables evaluate
the following :

(i) sin? 20°+ sin? 70° — tan? 45°

(i1) sec 50° sin 40° + cos 40° cosec 50°

Without using trigonometric tables prove the

following :

(i) tan 20° tan 35° tan 45° tan 55° tan 70° = 1

(i1) sin48° sec42° + cos 48° cosecd2° =2

(iii) sin 63° c0s27° + cos 63°sin 27° =1
sin70° cosec20°

@iv) + —cos70°osec20° = 1
c0s20°  sec70°

Q.8

Q.9

cos80°

in10°

sm

+ ¢c0s59° cosec31°=2

Prove the following :
(1) sinB sin(90° — 6) — cosBcos(90° — 0) =0
sin 6¢co0s(90°—0)cos 6

W = no00)
4 cos 0sin(90°-0)sin 6 _ |
sin(90°-0)
sin O cos0

= secH cosecO

(iii)

+
sin(90°-0) cos(90°-0)
tan 0
1+ cot?(90°—0)
c0s(90°-0) N 1+5in(90°-6) _
1+sin(90°-0)  co0s(90°—0)
(vi) + !
1+c0s(90°-0) 1-cos(90°-0)
= 2 cosec?(90° — 0)
(vii) sin2(90° — 0)(1 + cot?(90° — 0)) = 1
ol cos(90 —6).sec(90 —0)tan 6
cosec(90°—0)sin(90°-0) cot(90°—0)
. tan(90°-0) _ )

(iv) sin(90° - 6) cos(90°— ) =

2cosecH

cot®
(ix) tan(90 —Az)cotA —cos A =0
cosec”A
x) c0s(90°=A)sin(90°-A) _ sin2A
tan(90°—A)

Without using trigonometric tables, evaluate
each of the following :
(i) sec?10° — cot280°
sin15°cos 75°+cos15°sin 75°
cos 0sin(90°—-0) + sin 0 cos(90°—0)
(i1) sin(50° + 0) — cos(40° — 0)
+ tan1°tan10°tan20°tan70°tan80°tan89°
(iii) cotBtan(90° — 6) — sec(90° — B)cosecH
+8in225° + sin265° + /3 (tan5° tan45°tan85°)
(iv) cotBtan(90° — 0) — sec(90° — B)cosecH
+4/3 (tan5°tan30°tan85°) +sin225°+sin265°
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Q.10

Q.11
Q.12

Q.13

Q.14

Q.15

Q.16

—tan 0 cot(90°-0) + sec O cos ec(90°-0)
tan10°tan 20° tan 45° tan 70° tan 80°
. sin® 35°+sin” 55°
tan10°tan 20° tan 45° tan 70° tan 80°

)

The round balloon of radius r subtends an
angle a at the eye of the observer while the

angle of elevation of its centre is B. Prove
that the height of the centre of the balloon is r

sinf} cosec a/2.
If tan® = 8/15 and 0° < 6 < 90°, find sin®.

If sin6 = 8/17 and 0° < 6 < 90°, find tan®.

If sinA = %, find the value of tanA + secA,

where 0° < A <90°.
If 5 tan0 = 12, find the value of
2cos0+sin®
sin@—cosO
If tan6 = 3 , find the value of 1 - cos® !
4 1+cos6
If tan6 = 12 , find the value of I+ s¥n9 .
5 1—sin6

Q.17

Q.18

Q.19

If tanA = % and tanB = %, by using

tan(A + B) = M, prove that
I-tan Atan B

A+B=45

If 4 tan6 = 3, find the value of

4sin0—2cosH
48in0+3cosO

If cosecO = % , find the value of

2sin©—3cos0O
4sin®—9cosH
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ANSWER KEY

1. 1 2.1 3.()1 ,@) 1,31, av) 1, (v) 1, (vi) 1
4. (i) 2, (ii) % 5.3) 1, (i) 1 6.(1) 0, (i1)2
. . . 8 8
9. (1) 2, (i1) 1, (iii) \/g ,(1v) 1,(v)2 11. ﬁ 12. E
13.7 14. 2 15. l
7 9
16. 25 18. l 19.3
6
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EXERCISE # 2

Q.1

Q.2

Q.3

Q.4

Q.5

Q.6

Q.7

Q.8

Q.9

Q.10

Find the value of (3?“} radians in degrees.

Find the value of 150° in radians.

If sin® = %, then find the values of tan0 and

secH.

If tan® = i, then find the value of
y

xsin 0+ ycos0
xsin®—ycosh )

If 5tan60 = 4, find the value of

5sin©®—3cos6
5sin®+2cosH )

If 16cotx = 12, then find the value of
sin X — cos X
sinx +cosx )

If tan® = (3/4) and 0 < 6 < 90°, then find the

value of (sin6 cos0).

If 8 tanx = 15, then find the value of

(sinx — cosx).

If tan® = then find the wvalue of

1
,\/7 1)
(cosecze —sec? GJ

cosec’0+sec’ 0

If cotb = then find the wvalue of

1
\/g s

1—cos’ 0
2-sin?0 )

Q.11

Q.12

Q.13

Q.14

Q.15

Q.16

Q.17

Q.18

Q.19

Q.20

Q.21

If tan® = %’ then find the value of

1-sin®
1+sin0

If 3cosO = 5sin0, then find the value of

5sin®—2sec® 6+ 2cos0
5sin@+2sec’0—2cosO |

If tan® = (3/4), then find the value of
(cos20 — sin20).

Find the value of tan75°.

If tan® = i, then find the value of
X

_*

va? +x?

If 3sinx + 5cosx = 5, then the value of
(3cosx — 5sinx)2.

Find the value of
(sinA + cosA)? + (sinA — cosA)2.

Find the value of 1/1 Al SFIA .
1-sin A

Find the value of 1/ 1= s%nA .
1+sinA

Find the value of 1 —cosx .
1+ cosx

Find the value of 1+cosx .
1—cosx

Power by: VISIONet Info Solution Pvt. Ltd

Website : www.edubull.com

Mob no. : +91-9350679141

—




Edubull

. secx —tan x
Q.22  Find the value of me . Q.28  Find the value of

0 d the value of (cotl15° cotl6° cotl7°.... cot73° cot74° cot75°).
.23 Find the value o

cotO . tan 0
cotO—cot30 tan®—tan30 )’

Q.24  Find the value of

sinA +sin B +cosA—cosB
cosA +cosB  sinA—sinB )’

Q.25 Find the value of sin15°.
Q.26  Find the value of (sin40° — cos50°).

Q.27 If x = r sinA cosB, y = r sinA sinB and
z =r cosA, then which is correct ?
(A)x2+y?+z22=1r2 (B)x?-y?+z2=r12
O)x2+y2-722=1r2 (D)x2+y2+z2=12
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ANSWER KEY

1. 108°
2 2

4. 20
x? -y
12
25

10. 2
5

13.
25

16.9

18. sec A +tan A
21. cosec x + cot X

24.0

27. (A)

= (%)

11.

14. 2-43

17.2
19.sec A —tan A
22. sec X —tan x

b5 V3-1

22

28. 1

W=

3. i and E
12 12
6. L
7
9.3
4
, 21
979
15. cos O

20. cosec X — cot X
23. 1

26.0
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